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PAPER-II
ECONOMICS
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(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.

10.
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12.
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ECONOMICS

Paper - 11

(2) marks. Attempt all the questions.

Note : This paper contains fifty (50) objective type questions, each question carrying two

The revealed preference theory of 5.  The difference between the value of
consumer’s behaviour is based on marginal product and the marginal
(A) Consistency revenue product arises only if
(B) Strong Ordering A) A . 1
(C) Positive income elasticity of (A) verage revenue 1s not equa
demand to marginal revenue.
(D) All the above (B) Average cost is not equal to
Lo marginal cost.
An individual’s supply curve for .
labour will bend backwards when (C) Total revenue is not equal to
(A) The substitution effect of wage total cost.
rate increase is higher than (D) Average cost is not equal to
income effect. average revenue.
(B) The income effect of wage rate
increase is negative and higher
than the substitution effect. Note : The following 5 (five) questions
(C) Leisure is a Giffen good. consist of two statements : one
(D) The substitution and income labelled as the ‘Assertion’ (A) and
effect of wage rate increase the other as ‘Reason’ (R). You are
reinforce each other. to examine these two statements
The short run supply curve of a firm carefully and select the answers to
under perfect competition is the these items using the codes given
same as the below :
(A) marg@nal cost curve 6. Assertion (A) : In the short run, a
(B) marginal cost curve above the

average variable cost curve
average variable cost curve
average total cost curve

©)
D)

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List - II
(a) Quasi rent 1. Hicks
(b) Elasticity of 2. Chamberlin
substitution
(¢) Monopolistic 3. Neumann and
competition Morgenstern
(d) Theory  of 4. Marshall
Games
Codes :
@ b © @
(A) 4 1 3 2
B) 2 1 4 3
< 2 1 3 4
D) 4 1 2 3
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producer operates in only stage
Il of the law of diminishing
returns where average product
of the wvariable factor is
declining.

Reason (R) : In stage I and stage III
the marginal products of the
fixed and the variable factors
respectively are negative.

Codes :

(A) (A)istrue and (R) is false.

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(C) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A).
(A) is false and (R) is true.
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;T URIS H U9 (50) SE-foehedia W € | Uedeh W % a1 (2) i © | et Ul o 3R ST |

U HOER T Uehled  SIH

5. W SOR % ged SR | STy
T 30 W S & - IR o o o are =R % aHt 3ca=T
(A) e T E, ST
?é; T%?mm_m SN (A) :%Hg T G 3T & )R
(D) g gt '
(B) 3 Ed TTd HHT AT & sIa
TS MK H 9H MY 56 4D Fl 3R :
W?T&? T
(A) TEH TR H ghg T U= vre (C) et 3TH Fed AT o SRR &l & |
S ST 7 A E | (D) 3AGd oiTd AT ANH % SR
(B)Wﬂﬁq@mmw 53
3% WO Uere e |
ST 37X 0TI & |
(C) o (Leisure) ffFT ag & | ) o -~ ~ S
(D) ToH W H g % e w ﬁz.ﬁfwmlﬁmﬁw% SR
3T TS U SR B G § | (A) T T q('{"}) 5‘7’:”% ! -
IR AMYAE RIET0T AT § q
U7 ATl o ST %H T STeqehIieish fed gu el | TE SR A BEATE |
3 sk &I &
(A) HH=T AT a5 .
(B) 3T\d uRedl @ a%h ¥ W 6. IHAT(A) : FOUHA H, TH

HIH=T AT a5k

(C) 3 Ed uRed! AT ok

(D) 3TIFd Fot AN ash
TEr — 11 gt — 11 ¥ et it 3R

IAEE UdEhel g9 =9 = gk
F-1I § & Y=o Al
\_"Efr ‘H(\{Olcrl SR Rl AT 341K

FAEWEAE |

et fo it & ST <61 =1 hiford - T (R) : 31ee-1 3R sreer-1M 4, fer
-1 117"%;; I TS IR SURHT % HH SR
(a) 3T ST 1. U
(b) TR F AT 2. SRRl e il
(c) TSR 3. =i IS :
Hieeret AT (A) (A)TTE R (R) 31T E |
Sa)-ﬁ.gmm s (B) (A) &R (R) I & € 3R (R),
@ b © (A) F e = e |
Eﬁ)) 421 } i g (©) (A) 3R (R) T ¥ &, R
© 2 1 3 3 (R), (A) =t T& AT & ¢ |
M 4 1 2 3 ) (A) I E IR (R) AT |
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Assertion (A) In monopolistic 10. Assertion (A) : The average and the
competition, a firm earns only spread of indirect taxes have
normal profit in the long run. been lowered in India over the

Reason (R) : A firm in monopolistic past two decades.
competition ~ produces  a Reason (R) : Tax-GDP ratio in India
commodity which has no close has declined during this
substitutes. period.

((i?)desB: th (A) and (R) are true and Codes :

0 an are true an
(R) is the correct explanation (A) BOth, (A) and (R) are true gnd
of (A). (R) is the correct explanation

(B) Both (A) and (R) are true, but of (A).

(R) is not the correct (B) Both (A) and (R) are true, but
explanation of (A). (R) is not the correct

(C) (A)is true, but (R) is false. explanation of (A).

(D) (A)is false, but (R) is true. (C©) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) Devaluation in
general is resorted to increase i )
the exports. 11. ghe . clfflss1cal . analysis 0§

Reason (R) It makes exports Freig@grion o output — an

employment is characterised as a
cheaper.

Codes : (A) Static Analysis

(A) Both (A) and (R) are correct. (B) Comparative Static Analysis

(B) (A) is correct, but (R) is not (C) Dynamic Analysis
correct. ) (D) All of the above

(C) Both (A) and (R) are incorrect.

(D) (A) is incorrect, but (R) is
correct. 12. ‘Consumption is irreversible’ is

implicit in which of the following

Assertion (A) : The role of hypothesis ?
monetary  policy in a (A) Absolute Income Hypothesis
fievelopin%l economy in hgenefaﬁ (B) Relative Income Hypothesis
is to achieve growth wit . .
stability. (C) Life Cycle Hypothesis |

Reason (R) : It makes availability of (D)  Permanent Income Hypothesis
credit to public at cheaper rate
of interest. 13. Inventory-theoretic — approach to

Codes : transactions demand for money has

(A) (A) is correct but (R) is not the been given by
explanation of (A). . (A) J. M. Keynes

(B) Both (A) and (R) are incorrect. B) Milton Fried

(C) (A) is incorrect but (R) is (B) Milton Friedman
correct. (C) Don Patinkin

(D) Both (A) and (R) are correct. (D) W.J. Baumol
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AMTHET (A) : TSR Tiaqaiirar 9 10. SfFE (A) : U= 31 9rehl % IRH
T e | fah qE o & R § AT T H IR AR
ST el € | G AR FHE TATE |

e (R) : wferserdt s & e gr T (R) : 39 3@ % IR TR §
ﬁﬁ“ﬁﬁ ?"‘ﬂqﬁ:‘mg? freme 3, s s |

e HiS

' S (A) (A) 3R (R) 3 e ¥ 3l (R),

(&) Ei;?ag;g?%w(m’ (A) ol & RATE |

B) (A) #R (R) & & & (B) (A) &R (R) =¥l 7 & T

® ER;, (A)%%Wﬁ%?ﬁ (R), (A) ot Tl AT T € |

(C©) (A)T=E W< (R) AT | (C©) (A)F=&, W (R) AT |

D) (A) I, R (R) TAE | (D) (A) I, R (R) TAE |

SRR (A) : W AR R 11. SERT 3R ISR HEROT 1 SFoardieher
F TgH % U eEmeas fRa TorgeTsoT et &

STE | (A) S fameron

T (R) : Te faid =t samer & & (B) qeiTene Wifeies favermon
T

—_ (C©) TAIHS TIAT

(A) (A) i (R) i | (D) S T

(B) (A)WIE =T FR)@:@"}% ! 12. 394 eFehAviE (Irreversible) 2idm

(©) (A) R (R) FHI T & | € I e feitehd uRereamrett | & e

(D) (A)TdE, R (R) W T | Ffaffea & 2

. (A) TRUE 37 TeheaT
qﬁﬁ(g):ﬁﬁra%siﬁa;r 14?{1;2' (B) q:dvﬂd-loha%:'&rq?{chw-ﬂ
! ST 3o L U FATE | (C) SIE =Ish qRehedI

ah (R) : 7 @ 1 o1 SHEr G (D) ¥t 1T TRepeeT
T X R 3TAH FHIA € |

HS 13. w31 % fou fafee i &g e g fasr

(A) (A) T 5, T (R), (A) F 7@ freepIon 1 e ffeet fram € 2
S TE & | (A) SR B

(B) (A) R (R) I TAdE | (B) o= wiesm

(C) (A) e &, == (R) W& & | (C) =M ufefea

(D) (A) 3R (R) T+ WA € | (D) T=A.S. T
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14. Liquidity trap is a situation when 17. Match the List-I with List-II and
demand for money is select the answers from the codes
(A) Zero elastic glvenLl?eiOWI: List 11
B) Unit elastic 1St = 15t =
®) i . (a) Life cycle 1. Franco
(C) Relatively more elastic hypothesis Modigliani
(D) Perfectly elastic (b) Liquidity trap 2. J. Duesenberry

(c) Ratchet effect 3. A.C. Pigou

15. Match List-I with List-II and select (d) Real balance 4. J.M. Keynes
the answer from the codes given effect
below : Codes :

List — 1 List - I @ (® (© (@
(a) Equation of 1. Milton (a) 1 4 3 2
exchange Friedman B) 1 2 3 4
(b) Money wage 2. John Muth (g) 411 411 ; g
rigidity (D)
(c) Natural rate of 3. J.M. Keynes 18. The comcept of sustainable
unemployment ) . .
) ‘ development was first given by
(d) RatlonaI. 4, Irymg (A) Brudtland
expectations Fischer (B) Kindleberger

Codes : (C) Raul Prebisch
(@ (b) © (@ (D) Keynes

(A) 3 4 1 2

B) 4 3 o) 1 19. In the Harrod-Domar equation of

©) 4 3 I ) warranted rate of growth, i.e.,

_ /

(D) 4 1 3 2 g = G—/ij , the capital-output ratio is

represented by

16. Which one of the following (A g (B) 1/k
statements in case of Kaldor model (C) sly (D) yis
of trade cycle is incorrect ?

(A)  Its foundation can be found in 20. Which of the following is not an
Keynes:’ j[heory of income indicator of Globalization ?
determination. (A) Opening of the economy for

(B) It assumes that both saving and unrestricted ~ imports and
investment function (or at least exports.
one of the two) are non-linear. (B) Allowing free capital

(C) It makes use of investment movement among nations.
multiplier  interaction  to (C) Free movement of technology
generate trade cycles. among nations.

(D) It is based on capital — Stock (D) Achieving  exchange  rate
Adjustment principle. stability.
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14.

15.

16.

YA T Y Rt o © e e %
fer =T

(A) ITAATHEAE |

(B) RIS A I BRATE |

(C) oM €9 § SITET SAERR Bt
g

(D) YU AERR Bl € |
T — 11 gt — 11 @ foer it 3R

T U el T SR 1 I4T i
-1 T - 11
OREIEERED 1. T wies

HHEROT
(b) HIfEFH Ao 2. S =Y
A
(c) SRSFRI & 3. S.UH. Hid
PIEIRETER
(d) FrerrETa 4. e R
T
IReheaT
HiS :
@ ® @© @
(A) 3 4 1 2
B) 4 3 2 1
< 4 3 1 2
D) 4 1 3 2
AR Tehi & TS TS & Ty H
eAifend el & | I &1 e € 2
(A) 3TH A T LR & w4 F
TogT= o UTE ST Heheht € |
(B) THH! TaT € o I=d AR A
To AT (AT A T HH AT A F
TH) REFEAE |

(C) =AMUR Tehi i 3T A & few
g eeT-TuTeR STATsHAT ST UM
FATE |

(D) ¥ Yot Wik GHMESH g |
SMERAE |
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20.

et — 11 gt — 11 o 9re faer hifste

3R e U el ¥ ST T TF DT :
g -1 T - 11

(a) STa =5k 1. 3ot HRITer
IR

(b) WAMURT: 2. . TG

(c) T U 3. T 9

(d) FAEH AT 4. LA, B
RIS

HiS :

(@ (b)) (© (@

(A 1 4 3 2

B) 1 2 3 4

< 4 1 2 3

D) 1 4 2 3

YROTE TR T YT GougH TR

FRT Afaiea foha 74T ?

(A) e

(B) fhreem@aR

(C) e dferwr

(D) F

Te-2mX &1 IR g T P GHIHT,

g = G—%) H, USTI-3ceT ST foheeh

FT 39T ST & 2

A g (B) Uk

(©) sly (D) y/s

J-HEAh0T I Hohash FHAiThd H &

I T & ?
(A) ST 7T Ua 97 & o
TS i G |

(B) W % e e (D) S
TIfeTeieta bl STTAR ST |

(C) T o S WNifiTen! sht o TIfeT |

(D) Tafoa g wenface O ST |




21. Which one of the following is an 26. Various trade reforms after 1991 in
indicator of poverty ? India were implemented by
(A) Head-count index (A) Manmohan Singh
(B) Poverty-gap ratio (B) C.N. Vakil
(C) Poverty-square gap ratio () P.R. Brahmananda
(D) Al of the above (D) Jagdish Bhagwati
27. In 1971, collapse of Brettonwood
22. The unbalanced growth strategy was system was largely due to
propounded by
A R Nutk (A) Fall of gold standard
(A) agnz?r ur ‘se (B) Rise in the value of gold
(B)  H. Leibenstein (C) Failure to manage international
(C) A.O. Hirschman liquidity
(D) R.Rodan (D) Surplus countries did not
revalue and deficit countries
. did not devalue their
23. Qpportqmty cost theory  of e rencies
international trade is given by
(A)  Haberler 28. Purchasing power parity theory was
(C) Ricardo (A) Haberler
(D) Heckschor-Ohlin (B) J1.S.Mill
(C) J.E.Meade
24. The concept of intra-industry trade is (D) Gustav Cassell
given by
(A) Balassa 29. When was minimum reserve system
(B) Meade of note issue adopted in India ?
(C) Jagdish Bhagwati (A) 1947 (B) 1953
C) 1956 D) 1960
(D) J1.S.Mill © ©)
. ' ' 30. Which one of the following is not
25. Which one of the following is the objective of monetary policy in
considered as non-debt creating India ?
foreign investment inflow ? )
(A) To accelerate economic
(A) External assistance development
(B) Foreign direct investment (B) To achieve price stability
(C) Borrowing from LM.F. (C) To regulate foreign trade
(D) Commercial borrowings (D) To stabilise exchange rate
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21.

22,

23.

24,

25.

e A1 Gohaer iR § © & @
g7
(A) ¥E FIST GIhih

B) freaT faRTe SIGEIS|

(C) Tqef=a =t efeRrer S uma

(D) 3w @t

FEqIq  dglg gea fHEsh g
TS TS ?

(A) VTR 75T

(B) TUH. AR

(C) T.af. g

(D) R, T=A

SR AR & T AT a5
i FreAiteRa o | feret i femam 2
(A) TR

(B) weH ey

(C) Ferer

(D) EoRR-3AE (AT

I-SANT AR & T o
afcTted ferar ?

(A)  efrEr

(B) HrE

(C) STTRIRT SFadt

(D) .. e

freifora ® 9 RUIeR foRent ferwr sidare
31T hIg Ueh THEAT ST & -

(A) TR FErE

(B) Toret wreret era
(C) SIRIET ST I I 4R
(D) @IS 3UR

26.

27.

28.

29.

30.

1991 & 3IW 9Rd ¥ faf= =R
R e 11 AT fohd T 2

(A) TIHEA e

(B) HI.UA. bt

(C) L3R, TETHg

(D) STTRIST 9Terelt

g 1971 | SgTI5H Faw & fawhel g
T HIS TR T HRIT 4T

(A) TEUTHE H 9T

(B) @0l e H i

(C) AN TReAdr & YT Hi
TasheTar

(D) 3 faeeit q1 aret 90 = 37
AT T YHeaA T fagei gsT
H1E atet M A AT HT A

3TTeI el fhaT |

T vifed gaar fagra e wfqufea
e an ?

(A) TR

(B) S.ug. et

(C) wE He

(D) el shferet

IRA § e FH= 6l AT i JoTel
T TR g2 ?

(A) 1947

(B) 1953

(C) 1956

(D) 1960

IR § Hifgeh Aifd T Feitha § T A
T U LT TRl @ ?

(A) 3T foehr Sl 71 ST |

(B) A [ReRaT U e |

(C) To=eT =R =i fafTafid & |
(D) fofTa ST ot R & |

Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click




31.

32.

33.

34.

The continuous deficit in the balance
of payments of India is due to

(A) Continued rise in imports
(B) Slow rise in exports

(C) Exchange rate volatility
(D) All of the above

‘Currency War’ during the present
recession is concerned with

(A) Under valuation of currency
(B) Over valuation of currency
(C) Neutral valuation of currency
(D) None of the above

Disguised unemployment in
underdeveloped countries stands for
marginal productivity of some
persons is

(A) zero

(B) greater than zero

(C) high

(D) unity

Match List-I with List-II and select
the answer using the codes given
below :

List -1 List - IT
(a) Open-general 1. Employment
license

(b) TRYSEM 2.

(c) Wholesale 3.
price index

External trade
Credit control

(d) Cash-reserve 4. Inflation
ratio

Codes :
@ b (© (@

(A) 2 1 4 3

B) 2 4 3 1

© 4 3 2 1

(D) 3 2 1 4

35. Match List-I with List-II and select
the answer using the codes given

below :

List -1
(a) J.M. Keynes 1.
(b) David 2.

Ricardo
(c) Adam Smith 3.
(d) Mrs. Joan 4.

Robinson
Codes :

(@ @ (o

(A) 2 3 4
B) 3 4 1
<) 4 1 2
D) 1 2 3

List - 11
Economics of
imperfect
competition
General theory
of employment,
interest and
money

Principles of
political
economy

Wealth of
Nations

(d)

1
2
3
4

36. Match List-I with List-II and select
the answer using the codes given

below :
List -1
Institution

(@ RB.L
(b) N.A.B.AR.D.
(c) Planning

Commission

(d F.CIL

Codes :

(@ M (©

(A 1 3 4
B) 3 4 2
<€) 4 2 1
D) 2 1 3

List - IT

Year of
establishment

1. 1935
2. 1982
3. 1950

4. 1964

(d)

2
1
3
4
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31.

32,

33.

34.

R & A o H FReR =er e
FROTTE :

(A) I B R gig

(B) Fara # it gig

(C) Tafaa X = SITReRaT (Teretdn)
(D) ST g+t

M ARl % SRHE Bt 5 REd
T & 2

(A) N TEeIA

(B) T stfeea

(C) ! T T oI

(D) SUIH I g T

TR S § BFH SRISTIRT 1 37
2

(A) FB AfGEl H FHRT SR
AT |

(B) F® Afdl I AT SR
I HRTE |

(C) T Al S HHT IS
ST |

(D) FS Al wf HHRT ISR

THET |

Tt — I 1 gt — 11 o 9re faer shifste
AR A U Fe § ¥ AU W T
HITTT
g -1 T - 11
(a) TR I 1. ISR
AT (3 it

ToT)
(b) ZrEEH 2. & SMOR
(c) g F  HMd 3. U1 =T
LSEEIED
(d) FFa1 RS 4. R ERIA
AT
HS :
@ (b © @
A 2 1 4 3
B 2 4 3 1
© 4 3 2 1
D) 3 2 1 4
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35. gt — [ o1 gt — 11 & 91 e shite

AR T feu el § 9 A0 SW T
HITTT
g -1

T - 11
(a) S.UA. BT 1. THAIHRT
TR HifE e

(b) e "=l 2. SR &R 3
TEATTH, o8 UUS

=

(c) wenfmy 3. Wiguew 3
qifetfeehet SR

(d) Sadr s, 4. 9 3% 99

RERC
S :
@ b © @

(A) 2 3 4 1

B) 3 4 1 2

< 4 1 2 3

™ 1 2 3 4

36. I — [ gt — 11 & 9 e shife

AR T feu el § 9 A0 W T
HITTT
T -1

T - 11
(=) (T T &)
(a) YRAEfReE s 1. 1935
(b) ATETE 2. 1982

(c) FISTT ST 3. 1950
(d) TH.HI.3TE. 4. 1964

(F.C.L)
HS :

@ b @© @
A 1 3 4 2
@) 3 4 2 1
© 4 2 1 3
D 2 1 3 4



37. Which one of the following is not 41. Who is the Chairman of the
correctly matched in the case of Economic Advisory Council of the
India ? Prime Minister of India ?

(A) Revenue Revenue receipts (A) Suresh Tendulkar
expenditure : + Revenue deficit (B) Jagdish Bhagwati
deficit : interest payments (D) Vijay Kelkar
(C) Total Revenue receipts
receipts : + capital receipts
42. Match List-I with List-II and select
(D) Revenue Tax revenue + .
. the answer from the codes given
receipts . non-tax revenue below -
List -1 List - II

38. The incidence of sales tax is on the () Range 1. Square of
seller when the demand curve standard
(A) for the product is a rectangular deviation

hyperbola (b) Coefficient 2. Uses limited
(B) for the product is perfectly of variation information
elastic (c) Variance 3. Relative
(C) for the product is perfectly measure  of
inelastic dispersion
(D) for the product is moderately (d) Inter-quartile 4. Smaller than
elastic range range
Codes :

39. A progressive income tax implies @ ) (© @
that (A) 4 3 1 2
(A) the amount of tax falls with a B) 3 1 2 4

rise in income ©) 2 3 1 4
(B) the rate of tax rises with a rise D) 1 o) 3 4
in income
(€) both (A) and (B) 43. The distribution for which mean and
(D) the rate of tax decreases with a variance are equal is
fise i meome (A) Poisson (B) Binomial
(C) Normal (D) Gamma

40. Under which Article of the
Constitution of India is the Finance . o
Commission is appointed by 44. For a symmetrlc distribution
President of India ? Skewness (B,) is
(A) 279 (B) 280 (A) 3 B) 0
(C) 281 (D) 282 © 1 (D) 2
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37.

38.

39.

40.

AR & G5 § {7=ifera H§ 9 i |1 Gal

gofera e & 2

(A) TE =T ToE Wiar +
ST =T

(B) WIfHF EIRT ;TS =R — =AW
A

(C) FAMTE : IoRT  Wiqdr  +

(D) T Meqat : o oI + Bk
T

fasha oY BT ST feshel W TeAT €

RIS

(A) 3R h HIT Gk IEFARR
ETEURETEAT & |

(B) SIS ol HiT o5 JUIA: AGR € |

(C) 3G HT G a5k JUI: SRR
T

(D) SR HT AT a5k MG &I 9
ARRE |

TTTARTeT 371 o T 3191 & o

(A) 3T ¥ ghg & T F Hl AET HH
TAE |

(B) T ¥ gfg & T FR H T Tgal
g

(C) (A) T (B) T |

(D) T ® gfg & T H B T HA
BAE |

IRATg G & o 3T =g & 3idva
qRA o A gRT ford ST e
fopar ST & 2

(A) 3T 279
(C) 3TT=93 281

(B) 3TT=9% 280
(D) 3TT=9% 282

41.

42,

43.

44.

ORA & JUHE I SToes qHeEnl

RS T ST DI & ?
(A) T AFAR
(B) STTRIRT ST
(C) db. TIReH
(D) faeTa et
et — 11 gt — 11 o 9rer faer hifste
3R 9 fSU @il § F Y0 SW 99
FHIT
T -1 T - 11
(a) foR 1. AF formem
T
(b) foeRuUTTURE 2. WiHT STHEHRI
ST
FATE |
(c) & 3. SOfeROT
T 119
(d) Siaaqds 4, @R W
faar AT § DI
HIS :
(@ (b (@© (@
A 4 3 1 2
B 3 1 2 4
C© 2 3 1 4
M 1 2 3 4
fohy ATeT 3R TRERoT T feraRor SRR § 2
(A) U= (B) fwE
(C) = (D) T
AR 2 o feTg e () BT &
(A) 3 B) 0
(D) 2
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45. The sum of the squares of deviations
of the given set of observations is
minimum when taken from

(A) Mode (B) Median
(C) Variance (D) Mean

46. Factor reversal test is satisfied by
(A) Laspayer’s Index
(B) Fischer’s Index
(C) Marshall-Edgworth Index
(D) Pasche’s Index

47. Type I error is defined as

(A) Reject null-hypothesis when it
is false.

(B) Reject null-hypothesis when it
is true.

(C) Accept null-hypothesis when it
is true.

(D) Accept null-hypothesis when it
is false.

Note : Read the passage below and answer
question nos. 48 — 50 :

An employer is willing to hire an
extra worker provided he or she will
contribute a value that exceeds the wage
and thus the contribution of the marginal
worker is a good approximation of the
wage. On a given plot of land, if you add
more and more workers, each will
contribute marginally less and thus the
wages rise with productivity and with the
land-to-labour ratio. Areas with high
agricultural productivity and high land-to-
labour ratios (for example Punjab,
Haryana) have higher wages and vice
versa (for example Bihar, Orissa).
Productivity is determined by technology —
the seeds, irrigation, fertilizer, etc. Land-
to-labour ratio is determined by the size of
the agricultural labour force that the land

has to support. Areas with high population
density, and that means areas that have
experienced high rates of population
growth for a long time, will have low land-
to-labour ratios and hence low wages.
Also, if the economy is characterized by
well-developed manufacturing and service
sectors so that there is significant
employment outside agriculture, then
correspondingly there is less labour in
agriculture. Consequently, the land-to-
labour ratios in agriculture and hence
wages are high. This is the key link
between employment pattens and poverty.

48. An employer is willing to hire an

extra worker

(A) if the contribution of this
worker is more than the wage
rate

(B) if the contribution of this
worker is less than the wage
rate

(C) both (A) and (B)

(D) none of the above

49. Wage rate in agriculture sector
depends upon
(A) Productivity
(B) Technology
(C) Land-to-labour ratio
(D) All of above

50. Other things remaining the same,
areas with  well developed
manufacturing and service sector
will have higher wage rate in
agricultural sector, because
(A) of a relatively lower labour to
land ratio

(B) a relatively higher labour
productivity

(C) both (A) and (B)

(D) None of the above
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45.

46.

47.

o2t f53 g2 usi & fa=emi & T ot 3T
A BT € AtS 3 oo o 5 €
(A) wEerhd

(B) wfeTsT &

(C) WOy

(D) =T

A< SCRATT TLIeT0T iR | O fohdeh
FRT U Toha ST & 2

(A) TIEId i GIHih

(B) THER 1 Gaehich

(C) HRIA-TSTad geaehish

(D) UTe T GEHIH

15T | 7 i 36 T AT Bl A E :

(A) S H, e & 3R 39 sreiigd
T |

(B) & H, & & 3R 34 a@igd
T |

(C) & H, ¥ 3 3R 34 @R F
farsmar g |

(D) ¥ H,, 39 € 3R 34 WHR
o stan & |

: A fear U=l ufen SR wee W

48 9 50 ek hl ST JITSTT :

wF e faRed sER
Tt e W T F U Twge E @
eIt a8 Al @ 31 g 1 AR
FOT AR WU FHFT HEIR FH
IS TSGR T 3TN WieTeohed & | i
% U U TS W, A 37T ST | AT
FHMR A @A &, o Tl o qF
TR S 21T 3R Qe Searaehal 3R
Q-2 ST % Q1 TG agell & |
5 & 7 Py Tt Scssdr 3R
fF-G-21 ST 327 & (SIER0T o 7w
TSI, gRE) S8 Fg qeTea s '
Y 77 el € AR faetioa: off (ST &
ford faer, S | ScEehar o1 faror

48.

49.

50.

TENRTER — S, T&es, SR sents 51T
BT & | YH-T-219 31U T FERor 39
T 2 =T 5= i 1 ST A €,
% UIRHATOT ERI I & | aF & STt ST
F T IE , A o & e
T T A STHEE Tgtg Sl 3o A
1 SN R €, TR -5 S
7 & @R zEfe wegd B BT o
Av, o oewmer § g
FafoTart T e 8 % For) R
T TR FHTH! ISR &, T R T8 38T
P H H 9T &1 & | Forawy, HY o
JH-T-5 MU 3R THifelw Hepat
AT Bt & | ISR & e 3R freiean
& o9 I8 TA FI € |

e U ffaRed AR W aft

ST TR TG T S Bl €,

(A) S TE FER H AR TG
H Y RE |

(B) 19 9 IR 1 AT AT Y
RIFAE |

(C) (A) 3R (B)IH |

(D) Suded | ¥ HIE R |

I & H ATadl o &R R et ©
(A) ScUTEEhdl W

(B) WAl W

(C) gMH-91 I W

(D) ST ¥ W

3 A & TUE WA W, N e o

gferfaa  fafmoee’t wd dar e

foemm & o=t FY &7 § Ao A R

A BT, STk Jal W)

(A) 98 g T AfeTh €9 9
TATE |

(B) &\ IcTEehT AUfeTeh &9 ¥ 31t
g

(C) (A) R (B)TH |

(D) Sude | ¥ HE T |

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click






https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://t.me/Govt_Jobs_PREPP
https://prepp.in/
https://prepp.in/government-jobs-2021-news

